Ratio to CDF

10

1071

0.5

1800 GeV ppbar

~ Sum(pT) vs Ag (ij1 > 30.0 GeV)
| m CDF

— ---- Herwig 7.2.0 default

- —a— Pythia 8.240 default

I ¢+ Sherpa 2.2.8 default

[ Ilél‘l‘l‘

.. P
|

- ¥

~|
P

LT
R

-

] Hﬂ-' TN A -4v‘u:_aﬂ""":ri'=é‘..
¢ T R R MI S\ ¢

- o

Underlying Event
L

Rivet 3.1.0, > 5.8M events

LY
N |
O |
K e
RN |

mcplots.cern.ch [arXiv:1306.3436]

|
-

- H A :
- $44 X
5 Miﬂi a"‘g"’!;‘ﬁ\ § H“ {ﬂ | I I
B 4 8l ) '¢ "14.51'” (i

na il IR
- I 9 ‘ ‘ : ;

150
A/ degrees

N




	Contents
	Page 1


